
Durarion :- 3.OO Hrs A6J.90E319 Maxirnum Marks : 1OO

Q.1.
A)

Note : 1l AII questions are compulsory.
2) Figures to the right indicate lirll marks.
3) Provide statistical data & dingrams wherever necessary.

Attempt any two of the following.
Explain demonetization. Explain the var-ious objectives of demonetizatiol rn
India.
Explain the digitalize Economy. Steps Laken for promotion of Digital Flcor:ornr,!)
Highlight the impact of Demonetization on Gross Domestic Prodlction (CiDp).
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B)
c)

Q.2. Atternpt any two of the following.
A) Discuss the impact of fiscal responsibilily iegislation (FRL) on deficits.B) Discuss the debt between India & The V/orld.
C) Explain off budge expenditure. Explain Lhe various trencls in deficits in Incii:r

from 1994-2014.
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Q.3.
A)
B)
c)

Q.4.
A)
B)
c)

Q.s.
A)
B)
c)
D)

Attempt any two of the following.
Explain the Advantages & Disadvantages (UBI) universal Basic Income
Enumerate the arguments in favour to universarize the uBI.
Explain the guidelines principles for designing or setting of uBI.

Attempt any two of the following.
Explain the difference between Indian Income & consumption.
Examine the fertility exceptional perfor.Lnance of India.
Explain the improved convergence of hrdia against international
measurement.

Attempt any two of the following.
short Team impact of Demonettzation, Advantages & Disadvantage.
Write impact of FRL on budget process.
Universal Basic Income concept explairi.
Explain concept convergence.
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